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QUESTION 1

A vSphere administrator wants to export the log files from a vCenter Server Appliance for troubleshooting. Which three
are supported methods to export the log files? (Choose three.)

A. Leveraging vRealize Operations Manager.

B. Using the Managed Object Browser to explore the DiagnosticManager.

C. Using the URL displayed on the VCSA DCUI home screen (https://:443/appliance/support-bundle).
D. Logging on to the vCenter Server Appliance Bash shell and running the vc-support.sh script

Correct Answer: ACD

QUESTION 2

Which two statements are true about LACP support with the vSphere Distributed Switch? (Choose two.)
A. LACP works with MAC hash load balancing.

B. LACP works with software iSCSI multipathing.

C. LACP does not work with host profiles.

D. LACP does not work with port mirroring.

Correct Answer: CD

Reference: https://docs.vmware.com/en/VMware-
vSphere/6.5/com.vmware.vsphere.networking.doc/GUID3FDE1E96-9217-4FE6-8B76-6E3A64766828.html

QUESTION 3

Which password meets the default password requirements in ESXi 6.x?
A. Xga_hin3

B. xTaMEhD!

C. xQA!3h

D. Xqavntthi3

Correct Answer: B

QUESTION 4

A vSphere administrator has been tasked with ensuring that 500 virtual desktops are unable to communicate with one
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another, but can communicate with required services.

Which two solutions does VMware recommend? (Choose two.)
A. vSphere Host Firewall

B. Private VLAN

C. VMware NSX Distributed Firewall

D. Port Filtering

Correct Answer: BC

QUESTION 5

Which are two steps that a vSphere administrator must take to increase the capacity of an existing VMFS datastore that
is participating in a Storage DRS cluster? (Choose two.)

A. In the vSphere Web Client navigator, select Global Inventory Lists > Datastore Clusters.
B. Select the target datastore to grow and click the Increase Datastore Capacity icon.

C. Select the target datastore cluster and click the Add Datastore icon.

D. In the vSphere Web Client navigator, select Global Inventory Lists > Datastores.
Correct Answer: BD

Reference: https://docs.vmware.com/en/VMware-
vSphere/6.5/com.vmware.vsphere.storage.doc/GUIDD57FEF5D-75F1-433D-B337-E760732282FC.html
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